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POPULATION STUDIES
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

Read the following passage and answer the questions below (1to 4 ) :

Currently Japanese Economy & Society is undergoing profound changes in the
demographic background caused by low fertility in the past. The most notable is the prospect
that the population of Japan will soon be decreasing after the turn of the century. Population
projections observed that population of Japan will reach its peak in the year 2015, and decrease
thereafter. It would probably be the first experience in its history to have a continuous and long-

lasting loss of population by sustained below-replacement fertility.

Population in the working age group 15-64 had started declining since 1996. Another
turning point in Japanese demographics occurred in 1997, when the elderly population aged 65
and over exceeded the child population aged under 15. The dependency ratio, a ratio of child
and elderly population to working age population will also increase as a result of both the

increase in the elderly population and the decrease in working population.

Population ageing also advances within each age group. This implies that unit costs of
social security for the elderly population since older-elderly people are more expensive in terms
of medical care. Population in the labour force are also rapidly ageing, presumably entailing

such a consequence as decline in productivity and adaptability of the labour force as a whole.

1. Japanese economy and society is undergoing profound changes in the country’s
population characteristics because of

(1) Declining working age population.
(2) Globalisation and trade competition.
(3) Internal political crisis.

(4) Relatively less immigration.
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2.  The overall dependency ratio is a ratio of

)]
2)
3)
4

Child population to working age population.

Child population and elderly population to working age population.

Elderly population to Child population.

Elderly population to working age population.

3.  Labour force ageing causes economic crisis as

(1)
2
3)
4

4.  Increase in the proportion of older-elderly would cause Japan to

(1)
2
3)
“4)

5. Which of the following is used as denominator to compute “under 5 mortality” ?

ey
3)

It reduces productivity and adaptability of the labour force.

It increases disability among the workers.

It reduces motivation to work hard.

It increases their family responsibility.

Withdraw all medical support for the older-elderly.

Legalise euthenasia.

Spend more on social security per elderly person.

Encourage people to work in old age.

Total live Births

Population between 1-4

2
4

Population between 0-4

None of the above

6.  Match the estimation methods in List-I with List-II and select the correct answer, using

codes given below :

List -1

(a) Hajnal Method
(b) National Growth Rate Method
(c) P/F Ratio Method
(d) Census Survival Rate Method
Codes :

(a) (b) (© (d)
L @ (i) (i) (iv)
(2 () (iii) (iv) (1)
(3 @) - @1v) (i1) (1)
4 @Gv) (i) (1) (i)

Paper-I111
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(ii)
(iii)
(iv)

List - II
Fertility
Mortality
Migration

Nuptiality

J-15-16
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(a) B GBI () ST

(b) T Fig T TSI (i) g

(c) H/I® S TSI (i) vEET

(d) SFUET H Sifaddr ST USd (iv)  engehdr

T4

(=N

(a) (b) (©) (d)

(C) RN ) (i) (i) ()

(2 ) (i) (iv) (1)

(3) @) (1v) (i) (1)

@4 Gv) (i) (1) (i)
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7.  Which among the following cities has experienced a negative population growth rate
between 2001 and 2011 census ?

(1) Kolkata (2) Delhi
(3) Hyderabad (4) Chennai

8.  Which of the following state has highest percent of Scheduled Caste and Scheduled Tribe,
combined population in India in 2011 census ?

(1) Odisha (2)  Jharkand
(3) Chhattisgarh (4) Madhya Pradesh

9.  Which among the following is defined as the physiological ability to conceive children ?
(1) Fertility (2)  Age specific fertility
(3) Fecundity (4) total fertility

10. In India fertility reaches its peak, both in rural and urban areas, in which among the
following age groups ?
(1) 15-19 (2) 20-24
3) 25-29 (4) 30-34

11. Assertion (A) : Most settlers involved in agriculture, produce less agricultural output.
Reason (R) : Settlers lack information on better farming activities/techniques.
Codes :
(1) Both (A) and (R) are true, (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, (R) is not the correct explanation of (A).
(3) (A)istrue, (R) is false.
(4) (A)is false, (R) is true.

12.  Which among the following statement is not correct ?

(1) Index of Contraception varies proportionally with the prevalence of contraceptive
practices by couples in the reproductive age groups.

(2) Gross Reproduction Rate is the sum of Age specific fertility rates for female live

births”.

(3) Effect of breast feeding on fertility was a factor in the framework developed by
Davis and Blake (1956).

(4) Replacement level of fertility corresponds to the value of Net Reproduction
Rate = 2.1.

Paper-II1 6 J-15-16



10.

11.

12.

frrferfaa & 9 fbg =R & 2001 3R 2011 s SFHIOMT o S TehRIcHS SHEUET gig &l &2
(1) Hierepra (2) feeedt
(3) FEE 4) =

ad 2011 H SUAT § HEfeiad § 9 69 59 § R U Sgrad Sifd 99 SHgiad S,
TS, 1 AT Uidqerd & 2
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(3) wETE (4) "TEAWY
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BAE |
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13. According to SRS causes of death data in India 2010-2013, match cause of deaths in List-I
with percent of deaths among female population of all ages in List-II.

List -1 List - II
(a) Cardio vascular disease (1) 7.5%
(b) Respiratory disease (i) 2.8%
(c) Diarrhoeal disease (1) 20.8%
(d) Tuberculosis (iv) 6.3%
Codes :

(a) (b) (© (d)
(CORENCY (i) (i)  (@v)
2 () (i) () (1)
(3) (D) (1) (iv) (i)
@ Gv) (i) (i) (1)

14. Which of the following state has the largest percent of Scheduled Caste population in
India in 2011 census ?

(1) Punjab (2) Himachal Pradesh
(3) West Bengal (4) Haryana

15.  Which one of the following interrelation among the life table function is not correct ?

d
85+
M L85+: M85+ 2) lx+1 = lx_dx
[ T
80+ o Lo
(3) Lgs,= oot 4 ="
85+ Mgs, 07 1

16. Which of the following indicators are taken to compute Physical Quality of Life Index

(PQLI) ?

(a) Literacy Rate (b) Life Expectancy
(c) Infant Mortality (d)  Per capital income
Codes :

(1) (), (b), (c), (d) @) (@, ), ()

(3) (@), (c), (d) 4 (a),(b), (d)
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14.

15.

16.

IRA H Yo & HRUT & I H TIARTH (SRS) T 2010-2013 T KA & MR W G-I § fgw
T Gcg o HRON B GaAI-11 1 GHl 7 i Afgell TG & Gog Uhowid § e &Y | e Hf
TETIl § el ST H T9T Y |

T -1 = - 10
(a) &EIAT i 7.5%
(b) TEEA I (i) 2.8%
(c) TEREm (iii) 20.8%
(d) 2wt (iv) 6.3%

T4

(=N

(a) (b) (© (d)
(CORCY (i) (i)  (@v)
2 () (i) () (1)
(3) (D) (1) (iv) (i)
@ Gv) (i) (i) (1)

Y 2011 t STOAT § Fefefad § 9 f5q o9 § 9Ra J giad Sid s et g € 2
(1) U= (2) fewrEet wew
(3) UvEg e (4) @R

Sfier dTfetenT ®e § 171 § | w9 97 37d; a9 Gel Tl & ?

d
85+
(D L85+: M85+ 2 lx+1 = lx_dx
l T
80+ 0 20
(3) Lgs, = 4) ed=—
85+~ Mgs, 0 Iy

SATa Fehish bl IR TUTaT (U FIUA.3TE.) & TIUH o fore Fefotfad § & fhg depdent i
forar Strar & 2

(a) WRRAT (b) ST v
(c) Torgygegen (d) wfd-eate
£

() (a),(b), (c), (d) (2) (a),(b),(c)
3) (a), (), 4 (), (),
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17. A country has currently a population of 100 million and having an annual growth rate of
3.5 percent. If the growth rate remains constant, what will be the population of this
country in next 40 years (Approximate) ?

(1) 150 million (2) 200 million
(3) 300 million (4) 400 million

18. If all large states in India (Population 720 million) are grouped in four categories by their
level of “Unmet need for Family Planning” in NFHS-3.

Group No. Level of Unmet Need for FP (%)

I <10
II 10-15
I 15-20
v >20
Then, which of the following is correct for the state of Chhattisgarh.
(1) Group I (2) Group II
(3) Group III (4) Group IV

19. Which one of the following has not been included in the intermediate variable framework
by Davis and Blake.

(I) Intercourse variables

(2) Conception variables

(3) Contraception variables

(4) Gestation and Parturition variables

20. Census of India in its Migration table does not provide information on
(1) Immigration (2) Emigration
(3) In migration (4)  Inter State migration

21. According to Rostow, which among the following propensities affect the pace of
development.

(1)  Propensity to develop Fundamental Sciences.
(1)) Propensity to apply Science to economic ends.
(i1) Propensity to accept innovations.

(iv) Propensity to seek material advancement.
Codes :

(I) (1) and (ii) are correct.

(2) (i1) and (iii) are correct.

(3) (ii1) and (iv) are correct.

4) (1), (1), (iii) and (iv) are correct.
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20.
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() 150 fafer= (2) 200 Mfe==
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T T STEREHdeAT % W | @
T wE ufaw e ®t o e @t T

ATAIAHATAT BT W (%)

I <10

II 10-15

111 15-20

v >20
SR STHR SAETE T4 & feru 77 o 9 i a1 Wt € 2
(1) -1 (2) FE-II
(3) Wl 4) "IV

el 5 9 60 Sfaw 9o =i 511 viquiisd el o) (SeeHiigde anaee) §3aqT |
ST =&l fopaT T & 2

(1) 9urH =X

(2) TR W

(3) MHMRIEE =W

(4) THIEY R AT W

YR Sl SFIUMET 310 WG Alfetehl § Fefead 9 fhgent FemT UgH =l el € 2

(1) e () (2) STEE (THRRE)
(3) 3 WG (37 HEUTH) (4) IR ToaT

UL (Rostow) & AR H=faigd § § i O &1 Tid B T9Iad e STel &M
(afa2h) & 2

() Tt fammi & fam 1 T

(i) TR IETAT o T fasm o Su=T 1 &
(il) ST T DR B BT T

(iv) fifdqes S=d =l w1 T

£

(1) () AR (Gi) T |

() (i) 3 (iil) T € |

(3)  (iii) 3 (iv) T T |

@) (), (i), (iii) 3 (iv) T T |
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22. For which of the following level(s), the Expert Committee on Population Projections

projects the population.

(1) National level only

(2) National and state level only

(3) National, State and district levels only

(4) State level only

23. The Government of India appointed the Health Survey and Development Committee

(Popularly known as Bhore Committee) in which among the following years ?
(1) 1944 (2) 1946
(3) 1948 4 1950

24. Which among the following is not correct according to Lee’s laws of migration ?
(1)  Volumes of migration
(2) Current and Counter Current migration
(3) Migration by stages

(4) Characteristics of migrants

25. Which of the following is not stated as a goal of health and family welfare sector for the
12" Five Year Plan (2012-17) in India.

(I) Reduction in IMR, MMR and TFR.
(2) Increase in contraceptive use.
(3) Reduction in anaemia among women 15-49 years.

(4) Raising Child Sex Ratio in ages 0-6 years.

26. Which one of the following index is used to measure the extent of preference for age
ending with digit O and 5 ?

(1) Bogue’s Index (2) Myer’s Index
(3) UN Age-Sex Accuracy Index (4)  Whipple’s Index
Paper-111 12 J-15-16



22.

23.

24.

25.

26.

“STTEEAT weTuT i faes wfufa e 5 9 i T % fou SEE & weidor At 8 0
(1) Tok T & o forw

(2) Tk I @R 9 TR & fou

(3) Tk g, T AR Ne T & fow

(4) THF T T & fau

IR WHR A FAfefad 0 9 fhg a9 ¥ @ gaer ud foewrg afa (aR afafd & 99 9 o
AT R A1) i et fomarm 2

(1) 1944 (2) 1946
(3) 1948 4) 1950

T o T A % SR e ¥ % W 6§ 2
(1) VerE= 1 gRyTor

(2) VOGS URT AR WquRT

(3) EE vEE

(4)  AVETTEAT & AT

IRA H 1241 Gaasig I (2012-17) & ford fetarad 3§ 9 6 @ 3 aier seamr &5
T 8T TEL el AT § 2

(1) STETY.3IR., TH.UH.3R, qd1 2 TF. IR, H g

(2) THFREE |TEAT % STANT | gRg

(3)  15-49 9 I 31g o I Ao § TERead § HAl
(4)  0-6 3 o ¥ i 3T u H g

0 3T 5 37k % AT FHOA 3G % gl (ANHE) A & T § 7 7 F Thq gerhish
U oA S & 2

(1) a0 % gahieh (2) TSR FH AR

(3) FUA. Y — foTT Frha GaAHiH (4) Teauet 1 gaHi®
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27.

28.

29.

30.

Which amongst the following is true about percent institutional deliveries in India (as per
NFHS-3 report) ?

(1) Less than 25% (2) 25toupto 35 %
(3) 35 to upto 45% (4) More than 45%

Arrange the following bigger states in descending order (high to low) in terms of infant
morality rates according to the SRS Bulletin of September-2014.

(1)  Odisha (i) Madhya Pradesh
(1i1) Bihar (iv) Haryana

Codes :

() @), (@), (i), (iv) () (i), (iv), (1), (i1)
(3) @, (i), (id), (iv) @ (@), (i), (i), (iv)

Who among the following proposed ‘The Big Push Approach’ in the area of Population
and Development ?

(1) Arthur Levis (2) Harrod-Domar
(3) Leibenstein (4) Ricardo

Match the following Millennium Development goals numbers given in List-I with their

goals given in the List-1I below.

List - I List — IT
(@) Goal-1 (1) Eradicate extreme poverty and hunger.
(b) Goal-3 (i1)) Promote gender equality and empower women.
(c) Goal-5 (iii) Improve maternal health.
(d) Goal-7 (iv) Ensure environmental sustainability.
Codes :

(a) (b) (© (d)

(C) RN ) (i) (i) ()
2 () (i) () (1)
(3 @G @Gv) (1) (i)
@ Gv) (i) (i) (1)
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27.

28.

29.

30.

TF UF U9 Ug-3 (NFHS-3) & RUid o @R SRl | g et Uoe & Gae § i 91 Hasrd
3ieh MR % fo1d WEI & 2

(1) 25% ¥ HA (2)  25% 935 % qAH
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FY (=9 ¥ ) H At ST

(i)  eAErm (i) 7 w_w

(iii) TR (iv) @iEmm

£

() G, (1), (i), (iv) (2) (i), (iv), (1), (i)
(3) (@, (i), (i), (iv) 4) (@), (i), (i), (iv)

SHEEA ST TOehr o & T “STRIR &bl SUNTH (ST Q9T 31w T & 9 Toh ety foparm e 2
(1) 3R dfow (2) TEIW
(3) R 4) Tre

ffetfa ge-1 7 feu o gearst fosr @eg (Feifam Sdetade mer) st enst &t -1 §
3T T 37k AT % W AT BT
Tt - 1 = - 11
(@) wd—1 (i) 3 e SR JER & 3o
(b) &3 (i) SIS HHAMA Sl AR A7 3T TiEeATet sl et s=ET

(c) @F-5 (il) Wy @ § IR A
(d) @&F-7 (iv) YIERUNT G Hl GHRET HAT

T4

(=N

(a) (b) (© (d)
(O CY (i) (i)  (@v)
2 () (i) () (1)
(3 @G @Gv) (1) (i)
@ Gv) (i) (i) (1)
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31.

32.

33.

34.

35S.

Assertion (A) : The Component method is a better method of population projections.

Reason (R) : It projects components of fertility, mortality and migration separately and
then uses them to project population.

Codes :

(1) Both (A) and (R) are true, (R) is correct explanation of (A).

(2) Both (A) and (R) are true, (R) is not correct explanation of (A).
(3) (A)istrue, (R) is false.

(4) (A)is false, (R) is true.

The place which attracts people from surrounding areas because of service availability is
called

(1) Central Place (2) Common Place
(3) Fringe Place (4)  Outer Place

Who among the following coined the term “expectation of life”.
(1) Edmund Halley (2) George King
(3) Thomas R. Malthus (4)  Sir William Petty

Assertion (A) : Violence against women is a result of their subjugation.

Reason (R) : Uneducated women are subjugated and thus experience more violence.
Codes :

(1) (A)is true, (R) is true and (R) is correct explanation of (A).

(2) (A)is true, (R) is true and (R) is not correct explanation of (A).

(3) (A)istrue, (R) is false.

(4) (A)is false, (R) is true.

Find out the combination of correct statements.

(a) In India, the family planning programme has played a major role in reducing
fertility.

(b)  Study of differential fertility helps in indentifying the lagging groups.

(c) Adolescent fertility is declining in both developed and developing countries.

(d) Inchina fertility has constantly declined since 1950.

Codes :
(I) (a)only (2) (b)and (c)
(3) (a), (b) and (¢) 4) (a), (b), (c) and (d)
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31.

32.

33.

34.

35S.

ATUHYT (A) : T2 Ugd (U< BIE), SHEET & 3TAA (NSIRE) H T 98k UFid € |

a® (R) : 99 WS, gl Ud Yad 1 3Tel-3TeT STA oIl STt T 3 T9h 9%
SEEAT T SFH TR o feTT STt STFIT o5 ST € |

£

(1) (A) 3T (R) IHT Tl & 3R (R), (A) ! Tel =M E |

(2) (A) W (R) 3T Tl &, T&d (R), (A) Fl el A7 i ¢ |

(3) (A)TE FIR) T |

4) (A) T E, R (R) T & |

ST T WAT3T ! STTeHT % HROT ST o Sl bl STHT Ll 8, ST el ST ¢
(1) &= = (2) 3T T (FET T
(3) T = (T =) (4) TR I (33T i)

Ffafad O 9 g “Siem st U (Taquees™ St TEW) U8 bl Ta-T i 2
(1) ueHe & (2) ST R
(3) oHE AR HeIH (4) X faforam vt

AT (A) : AfeeTet & fgeTs BT 3! WRaeidr &1 aRoms & |

A% (R) : IIETT TS S WRawTar & ford ared fohaT ST & 3R 30 TR S 61 § oA
TEATE |

E T

(1) (A T, (R) T & 3R (R), (A) B T A& E |

(2) (A WEE, (R) T & 31T (R), (A) I T&t =AW T & |

(3) (A)FEE, (R) AT |

(4) (A)TAE, (R) W& |

frefefad & & W&t %o T (Combination) T I

(a) YRT H URER A HEHT F IS 8 H HH o § T e R E |

(b) a9s T <X % TeEa | 39 & T {Usg gU &6l ol Tga S H WErEdT et €1
(c) Toomlaa T faeprastict ST UhR o 3T H fohTRT ol U 3T H AT 3ME & |

(d) T H AT 1950 ¥ & I T H MR FH 3ME & |

Elcg‘d':
(1) % (a) (2)  (b) 3R (c)
(3) (), (b) 3R (c) 4)  (a), (b), (c) 3R (d)
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36.

37.

38.

39.

Which one of the following expressions, explains the low sex ratio (F/M) of child
population in the age group 0-6 ?.

(1) Higher mortality of female children in the age 0-6 years.
(2) Lower coverage of female children in the census.
(3) Sex selective abortion where female foetus is aborted.

(4) All the three factors listed above.

Which of the following refers to Dispersed settlements ?
(1)  Group of houses along a line.

(2)  Scattered houses over large area.

(3)  Group of houses along a nucleus.

(4) Very few houses clustered in one place.

According to the SRS Bulletin 2014, which expression describes correct level, high to
low, of crude death rate among the following states.

(a) Kerala (b) Karnataka
(¢) Tamil Nadu (d) Bihar
Codes :

(1) Bihar, Karnataka, Tamil Nadu, Kerala.
(2) Bihar, Karnataka, Kerala, Tamil Nadu.
(3) Tamil Nadu, Karnataka, Kerala, Bihar.
(4) Kerala, Tamil Nadu, Karnataka, Bihar.

Assertion (A) : Total Marital Fertility Rate (TMFR) is a more refined indicator of fertility
than Total Fertility Rate (TFR).

Reason (R) : TMFR takes into consideration marital status of women in different
Reproductive age groups.

Codes :

(1) Both (A) and (R) are true, (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, (R) is not the correct explanation of (A).
(3) (A)istrue, (R) is false.

(4) (A)is false, (R) is true.
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36. = ° ¥ ®F 9@ AT 0-6 3TF S Y §16T A H HH oRTUTT (GTSh/eTSsHT) i o9
A T ?
(1) 0-6 3TF a1 § SMieTehTel i 3= gogal
(2) STOMT | STetepta i T et
(3) Tor wata Mo, fSTEs %=1 Yo7 T YT AT S § |
(4) IR T IH FREH

37. = ° 9 S A1 el el SRt B 3 € 2
(1) g IR o -9 TR T T
(2) fToemer & W W
(3) Tordl eI T % Qre-ATY R T 99
(4) UHWHE R FS T Tgd W

38. UH AR UF Feifed 2014 & IR, 3WNHT T X & T | =1 T 1, 3= @ T, et 51
T 2T 2

(a) WA (b) FARH
(c) diHerTg (d) F=Rr
E T

(1) Fo&R, FAeH, dHerg, 3

(2) TR, FAleH, et ATy

o

(3) dEeITE, e, o, TR

(4) A, AT, FARS, TR

39. Afwus (A) : USFH & GY H T daiesd WsHE X (TMFR), et Wi &% (TFR) § 9Tt

IR IR € |
% (R) : TMFR U fafy=T 31 it § Afgemsti i detedd feafd o faar e § |
£
(1)  (A) @ (R) AT TE & T (R), (A) T Fel T |
(2) (A) @ (R) TAT T E, W (R), (A) Ht Tl AT &I € |
(3) (A)TEE WR)TATE |

(4) (A)TAE, WR) T |
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40. Which among the following is considered to develop Gender-related Development Index

(GDI) ?

(A) Gender gap in health. (B) Gender gap in knowledge.
(C) Gender gap in mobility. (D) Gender gap in living standard.
Codes :

(1)  Only (A), (B) and (C) (2) Only (B), (C) and (D)

(3) Only (A), (B) and (D) (4) Only (A), (C) and (D)

41. If the population in the beginning of age x is P, and in the beginning of age x + 1 as P

x+1
and number of deaths in the age x to x + 1 is dx, then risk of death in the age x to x + 1 is

computed by using which of the following denominators.
(H P (2 P

X x+1

P +P

X x+1

3) — 5 (4) None of the above

42. Assertion (A) : Population projection of Japan has shown that Japan would experience
population decline around the year 2015.

Reasoning (R) : Japan has experienced sustained below replacement level fertility.
Codes :

(1) (A)is true, (R) is true, (R) is correct explanation of (A).

(2) (A)is true, (R) is true, (R) is not correct explanation of (A).

(3) (A)istrue, (R) is false.

(4) (A) is false, (R) is true.

43. According to the 2011 census, which one of the following expression arranges most

populous states in India, from high to low.
(1) U.P., Bihar, Maharashtra, West Bengal.
(2) U.P.. Maharashtra, Bihar, West Bengal.
(3) U.P., Maharashtra, West Bengal, Bihar.
(4) U.P., Maharashtra, Bihar, Karnataka.
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40.

41.

42.

43.

AfTeh-Tare faer gaehier (S.81.37.) i faeiad & ° f=fafad o 9 fvg W faar fwar s
g7

(A) WA T il 3R (S 70) (B) T H AT 3R
(C) Taordn (Wifsferen) o i 3 (D) Sied TR T Wit 3
E T

(1) = (A), (B) ¥R (C) (2) %= (B), (C) 3R (D)
(3) # (A), (B) ¥R (D) (4) = (A), (C) 3R (D)

1 39 x % A H HIE TELAT P B, AXIHx + | FAFHP AR x Fx + 1 T 9

& dx &, A SH x W x + 1 6 99 g & Sirad (R 2% goJ) i 9o & fog, e §
T o &% (TeitameR) 1 s o € 2

(H P 2 P

X x+1

Px + P)c+1

) — (4) IR H F HE T

ANHAT (A) ¢ ST o STHEEAT UeToT H I8 <@ 77 & 76 99 2015 o 3T ST i S|
H AT R |
T (R) : ST = TAd (7 Um0 TR =T I i ¢ |

C TAN

(1) (A)TEE, (R) T ¢ AT (R), (A) B T AT |
(2) (A)TEE, (R) W E, (R), (A) Tl T&l =7 T&i ¢ |
(3) (A)TWEWR) TATE |

(4) (A)TdE, WR) T |

2011 %t STRTUMT & AR Gad A& ETE! STet e a1 1, 390 9 =1, Tel 569 .1 ¢ 9
(1) WY, @R, Ferrg, 9. a7
(2) S IR, WeNTg, fRR, 0. &M
(3) I UV, WENTE, 4.8, foerk
(4) I WS, WERTZ, fRR, Hieh
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44. Who among the following has focussed on Intervening opportunities between place of
origin and place of destination ?

(1) Stouffer’s Model of Migration
(2) Todaro’s Model of Migration
(3) Ravenstein’s law of Migration.

(4) Lee theory of Migration.

45. Which of the following combination of data are required to compute Net Reproduction
Rate ?

(a) Age specific birth rates
(b) Percent female births
(c) Female population by age

(d) Probability of survival of girls from birth to reproductive age

Codes :
(D) (a), (b), (¢), (d) (2) (@, (), (d)
3) (b)), (¢), (d) 4 (), (), ()

46. Which among the following theory states that benefits of fast economic growth will seep
through the high-income groups to all lower income sections of society ?

(1) Malthus theory (2) Demographic transition theory
(3) Trickle down theory (4) Health transition theory

47. If the number of infant deaths in year ‘y’ is D’y and the number of infant deaths in year

‘vy+ 17is D ”y +1 occurred to the births in year ‘y’ is B,. Which one of the formula is
correct to calculate adjusted infant mortality rate ?

(1) IMR, :g%ﬂ * 1000

2) IMR, = R/%E * 1000

(3) IMR, :D—"”];yix # 1000

(4) IMR,; = S (D’];; St 1000
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44, Faffad ¥ 9 g g 00 = @ e ©F % &9 Sfddl STaall W SR fear mam § 2

)]
2)
3)
4

LISH &1 UG TS

ZIS T Yaq Hisd

AT & Jorg HA

o T Jere st

45. o 1 T (A NRISH ¥2) i 90T & FeTw Siehel 1 i T Gaio SavaF § |
H D T H Tel I H =7 L |

(a)
(b)
(©
(d)

T4

(=N

(1)
3)

3 At S X
PIMERCTDIRS )
39 & feamE @ wfeen sHEEn

S W SHATCHS SH Tk ] bl SHaddT shl ST

(a), (b), (0), (d) 2 (a),(b), (d)
(b), (¢), (d) @ (@, (), ()

46. T=fated & @ e fagid o 7T € 6 oSt 9 31k gfg & @ 99 & 39T 3T O9El &
T TR ek Tt Fer T9el deh uga ?

ey
2
3)
4

AT 1 g
fohel S8 &Rl (FW T TR H A d% Yga- H1 Gaid)
e HehaoT fagid

47, o ey ot e B vy A R g e D oy + 1 g e

gga=@D”

&, TETEIT 78] 9o X T STt B o HH-IT G Tel & 7

v+l
(1) TMRemrafom = Bl}%m #1000
y
2)  TMRemrafom = E%M #1000
(3)  TMRegepifom = D—”“Bl—_% % 1000
y
@ MR = (D’]y; T o
y
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48.

49.

50.

S1.

52.

Which of the following decades showed decline in the rate of population growth, first
time, in India ?

(1) 1961 -1971 (2) 1971 -1981
(3) 1981 -1991 (4) 1991 -2001

Which one of the following is the top-most (Rank — I) cause of deaths in the EAG states
and Assam, according to SRS cause of deaths in Indian Report 2010-2013;

(1) Respiratory diseases (2)  Tuberculosis diseases

(3) Cardiovascular diseases (4) Digestive diseases

Which one of the following is not a included in the construction of ‘Human Development
Index (HDI)’ ?

(1)  Adult literacy
(2) Expectation of life at birth
(3) Per capita income

(4) Adult sex ratio

Which among the following is not a measure of population Ageing ?
(1) ageing of elderly population. (2) ageing index.
(3) child-age dependency ratio. (4) median age of the population.

Match the name of the scholars in List-I with the concepts they are associated with in the
List-II given below :

List - I List — IT
(a) Karl Marx (1) Dependency ratio
(b) Meadows and Meadows (1)) Reserve army of unemployed
(¢) Coale & Hoover (111) Ultimate Resource
(d) Julian Simon (iv) Limits to Growth

Codes :

(a) (b) (© (d)
(L () (iv) (i) (1)
(2 () (iv) (1) (iii)
3 (i1) (iv) (iii)
@ (iii) (i1) (iv)
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48.

49.

50.

S1.

52.

IRA H [ 390 H Teell IR SHEET gy 3¢ § HHT 351 61 g ?
() 1961-1971 (2) 1971 - 1981
(3) 1981 -1991 4) 1991 -2001

IRA H g & Gag § TR TH 3R T (SRS) 1 2010-2013 i RUE & AR 3T8H q41 € TS|t
(EAG) Ui & 9o 1 Qo g (Yo-1) HROT 47 § 2

(1) vorg | (2) 2.
(3) 73T Gt T (4) U= o7 GEdr I

frfetEd 3 9 59 U 1 A {9 Gaehish (T9.31.311%.) S H SNHe F&] 63T 7T & 2
(1) ok TR

(2) ST W STiaA i g

(3) A=A T

(4) = form s

frfefEd o 9 i 91 SHEE & I &H 1 A9 el & ?
(1) T SHEE i FgTereT FgT (2) TFTH F gIHH
(3) SICI-3W WA SO (4) STHGE Hi IR W (Hifea Te)

-1 3 o T S 3 A g1 R T S e RO ¥ A e H

=t - 1 = - 10
(a) I AT () T ST
(b) TSN U Hies (i) SRISTIRI ! R=e o
(c) IcT TS goR (il) TR\ HETE (e )
(d)  Stfea |rEHT (iv) o g

T4

(=N

(a) (b) (© (d)
(1 () (iv) (i) (1)
2 () (iv) (1) (iii)
3 O (i) (v) (i)
(CORNCY (iii) (i) (iv)
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53. Match names of the authors of the books given in List-I with names of the books given in
List-11 :

List - 1 List - 11
(a) Radhakamal Mukerji (i)  ‘Food Planning for Four Hundred Million’

(b) Gyan Chand (i1) India’s Teeming Million

(c) N.V.Sovani (111) “The Population problem in India

(d) Kingslay Davis (iv)  ‘The Population of India and Pakistan
Codes :

(a) (b) (© (d)
(1 () (i) () ()
2 @G @Gv) (1) (i)
3 Gv) (i) (i) (1)
(CORNCY (i) (i)  (@v)

54. Which among the following does not include in the Everett Lee’s conceptual frame work
for migration analysis ?

(1)  Factors associated with the area of origin.
(i1)  Factors associated with the area of destination.
(ii1)) Intervening obstacles.

(iv) Personal factors.

Codes :
(H @ 2) (@, @)
(3) (@), (b, (i) @ (), (), (1) & (iv)

55.  Which among the following formula is used for calculating expectation of life at birth

CIk

(0] Tx (0] Tx
M) 9= @ =7
T T

o__X o__X

(3) eo - 1,ldx (4) eO - nqx
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53, -1 3 T SrEt S AT A - 3 T S T A e g S

et -1 =t - 11
(a) TSR Gehsit () T AT BR R Egg Mfea
(b) IH=R (i) 3fear 2 Hiea=
(c) TAE FEm (iif) T WYY UiseH & gfear
(d) THraer Sfom (iv) T UIYeivH 3 Efear U e

T4

(=N

(a) (b) (© (d)
(1 () (i) () ()
2 @) @Gv) (1) (i)
3 Gv) (i) (i) (1)
(CORNCY (i) (i)  (@v)

54, fAfefad B @ BF JaE [veoT & TaRe - & 6 STaERcTS @l § Siel &l & ?
() Tt & ¥ gatad HRb
(i) T & ¥ Tatd HREH

(i) == Sl aTEa

(iv) SATHRTTT FRSE

E T

L @ 2 O, 1)

(3) (1), (i), (iid) @ (@), (i), (iii) 3R (iv)

55. W%Wﬁm—w(eg)wmﬁ%mﬁwﬁﬁﬁquﬁﬂqﬁvwﬁ%?

(0] _Tx (0] Tx

M) Q== @ =7
X

T T
o__X o__X

(3) = 4) Q==

=
=
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56.

57.

58.

A country currently has a population of 100 million and an annual growth rate of 3.5

percent. If growth rate remains constant, how many years it takes to double is population ?
(1) 15 years (2) 20 years

(3) 25 years (4) 30 years

Match the following items in List-I with those given in List-II.

List - 1 List - 11
(a) Pre-industrial stage (1)  Urban nucleus
(b) Industrial stage (i) Urbanized area

(c) Post-Industrial Stage-1 (11) City Region

(d) Post-industrial stage-I1 (iv) Conurbation, Metropolitan complex urban
field.

Codes :

(a) (b) (© (d)
(H G @Gv) (1) (i)
@ O (i) (i) (@v)
3 Gy (i) (i) (1)
@ @) (@Gv) (i) (1)

Which one of the following is not a part of Millennium Development Goals (MDGs) ?
(1) Reduce by half the proportion of people whose income is less than 1 US$ (per day).
(2) Combat HIV/AIDS, Malaria and other diseases.

(3) Promote gender equality and empowerment of women.

(4) To balance low sex-ratio in favour women.
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56. Todl <97 ol gaEE | SO 100 ffeas & 31 39! a1fies 9ig 3% 3.5 Uiaea € | 35 98 g
T e el &, o STkt STHEE B AT 8§ o ot 2

(1) 153w (2) 209
(3) 253w 4) 3099

57, A% e I & g | B T & e S

T -1 Tt - 11
(a) SEN qT e (i) TR FEH
(b) =TS e (i) TRIPd &

(c)  STRITTIROT SRIA Uo| =0T (iii) It &7
(d) STENTIRROT SWIT U TWOT  (iv) TR 37y o, HeTRIF AT TRIT &5

(a) (b) (© (d)
(H G @Gv) (1) (i)
@ O (i) (i)  (@v)
3 Gy (i) (i) (1)
@ @) (@Gv) (i) (1)

58. =1 ® 4 %I Hears! fomhE @1eg (MDGs) H 9iHeT Tl & ?
(1) TS R 6t 3T | SR SoR Uid 57 & 1 &, ST SO 378l T |
(2) U 3T d/ued (HIV/AIDS) Tl ae 7= I o fEets To
(3)  ATTeR T IUT AEAT TRTRAHIOT ST HTeaTeT
(4) HfEcTsT % UaT | Fe i ST i ot T
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59. Match the items in List-I with List-I1.

List -1

(a) Chlorofluro Carbons (CFC)
(b)  Carbon dioxide (CO,)
(c) Biological Oxygen Demand (BOD)
(d) Methyl Iso Cyanate
Codes :

(a) (b) (©) (d)
() (i) (i) (iv) (1)
@ (i1) (iii) (iv)
(3) i) (i)  (iv) (1)
@4 Gv) (i) (1) (i1)

(1)
(i)

(iii)

(iv)

List — IT
Bhopal Gas tragedy
Global warming
Ozone depletion

Water pollution code

60. Match the items in List-I with List-II and select the correct answer using codes given

below.

(a)

Number of survivors at age x in a life table with (1) d
radix — 100,000 person.

List -1

Number of death in age interval (x, x + n)

List - II

nx

Gi) L

n-x

Number of person-years lived in age interval (x, x + n) (i) [,

Expectation of life at age x.

(b)

(©)

(d)

Codes :
(a)

1 @

(2 ()

3 @Gv)

4) (i)

61. Which one of the following is correctly defined as old age dependency ratio ?

ey
2
3)
4

Paper-I111

(b)
(ii)
(iii)
(iii)
(D

(©)
(iii)
(iv)
(ii)
(ii)

(d)
(iv)
(1)
(1)
(iv)

(iv) e,

Young population under 15 years of age to elderly population in 60+ age group.

Elderly population in 60+ age group to population in 15-59 years of age.
Population in 15-59 years of age to elderly population in 60+ age group.

Elderly population in 60+ age group to young population in under 15 years of age.
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59. G-I ® HRT ! G-I | 93T ¥ AT I

(a)
(b)
(©
(d)

(1)
2
3)
“4)

T -1

FAR AR BT T )

T STEARRIES (CO,)

o SiteriTsT 1 | (S 37 )

et smet AR
@ (b © (@
iy @ G @)
¢ i) @) (i)
(G N € N GO O
@1v) (1i1) 1) (11)

= - 10
() wiorer T AR
(ii) e ST
(ili) 3T 9 g1
(iv) STeT UgooT %

60. -1 % TR G-I T T H e S e g g T I e e

(a)
(b)
(©)
(d)

ey
2
3)
“4)

e - 100,000 =i % T S RN | x a6 b S ot (1) d
3 AA (x,x+n)ﬁﬂ?&’1‘cbﬂfﬁ@T
39 W(x,x+n)ﬁl%’@%ﬁﬂ1’ﬁ(Person Year) = T&T

T -1

¥ F 3 37 S e
@ ®  © @
(1) (i1) (111) (iv)
i) G v 6
(v G G )
Gy @ G ()

w11

n-x
(i) L,

(i) 1,

(iv) e,

61. T § ¥ I T&l FoF I ST i I & 2

€]
2
3)
4

J-15-16

60 + I % SH THE I F§ ST I oIl § 15 a9 T HH W i JaT STHEEn
15-59 9 1 IW I STHEEAT F T H 60 + I % SH THE H Fog TG
60 + a9 & W TYE I g STHGEAT B oI H 15-59 T4 & IH hl STHGEAT

15 99 ¥ A IW Sl JaT TGS B oI H 60 + T o SH T i Fog TG
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62.

63.

64.

65.

Match the following items in List-I with those in List-I1.

List -1 List - II
(a) K. Zipf (1)  Rank size rule
(b) Perroax (1) Theory of growth poles
(¢)  W.J. Reillx (ii1)) Gravity Model
(d) Carr-Saunders (iv) Theory of optimum population

Codes :

(2) (b) (©) (d
(H (@) (i) (i1) (1
2 O (i) (iv) (ii)
3 O (i1) (i) (iv)
4) (i) (1 (i) (iv)

Neo-classical micro-economic theories of migration emphasize on which of the following
?

(1) Labour market (2) Marriage market

(3) Household and individual choice (4)  Multiple market together

Which among the following is Direct Anti natalist policy ?
(1) Reducing infant and child mortality. (2) Raising age at marriage.
(3) Raising income of the families. (4)  Women’s employment and status.

Match items given in List-I with the items given in List-1I related to the National Family
Health Survey-4 given below :

List -1 List - II
(a) The survey is being (i) The Ministry of Health and Family Welfare,
conducted by Government of India.

(b) The survey is being (i) The International Institute for Population
coordinated by Sciences, Mumbai.

(c) Technical assistance (iii)) ICS International USA.
for the survey will be

provided by
(d) With major financial (iv) The United States Agency for International
support from Development and Ministry of Health and
Family Welfare Government of India.
Codes :

(a) (b) (© (d)
(1 () (1) (i)  (@v)
2 () (i) () (1)
(3 @G (@Gv) (1) (i)
@ () (1) (i) (iii)
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62. NI T T AT B GeAl-11 o AT § GATTT HilTT -

T -1 = - 10
(a) o O® () I R Fam
(b) W (i) g = =1 faga
(c) T U (i) T HieA
(d) R IRH (iv) T=aH SIS H G
£
(a) (b) (© (d)
(1 (Gv) (i) (ii) (1)
@ @ (ii) (iv) (i)
3 O (i) (i)  (@v)
4 (i) (1) (i)  (@v)
63. UIEA % TI-IMET eH-Sh [Ggid = 7 F fohg W SR 3 &2
(1) =W IeR (2) faaE =R
(3) URAR Te ST TS (4) EIaY ISR AT (Aeidet Hishe 2TeY)
64. = ° ¥ A veae v famt Aifd € 2
(1) Torg wd oot Gegerm =2 (2) foeme i 37 =g
(3) URAR I 3 Tl (4) &A1 ATR AR feafq
65. fAfafEad T URaR W@ Qaetol-4 & Gy § G-I | §F 7 7l ! G-I | 3F ¢ #7ef 9
gHferd T
T -1 = - 10
(a) T T T fRAT (1) @mem 3R URER el HAetd, TR TR
ST & 2
(b) TAEIUT fhTH FRT GHMGT (i) SFRISE STHAE e S, Jre
Topar T & 2
(c) Tl ¥ fhas TR (ji) STEHUH. T=HIEA, JUI T
TehITeh! FeTdaT & St 2
(d Terd: Fad  fodm (v)  SIdeE faera & e TN TSIl qeT e
TETIAT I B ¢ 2 3R URER FHedmoT Herd, TR TR
£
(a) (b) (© (d)
() (i) (1) (i) (@)
(2 (i) (iii) (iv) (1)
(3) (i) (@[v) (1) (ii)
@) (iv) (1) (ii) (iii)
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66. Assertion (A) : About 19 percent of young women in developing countries become
pregnant before age 18 years (UNFPA, 2013).

Reason (R) : Young women more often face descrimation, social exclusion, poverty,
marginalization and gender inequality limiting their access to health care.

Codes :

(1) (A)is true, (R) is true, (R) may be one of the explanation of (A).
(2) (A)is true, (R) is true, (R) is not correct explanation of (A).

(3) (A)istrue, (R) is false.

(4) (A)is false, (R) is true.

67. Match the following items in List-I with List-II.
List -1 List - II
(Rate) (Formula)

(a) Crude Birth Rate i B
(1) F(15-49) (15-49) X k (constant)

(b)  General Fertility Rate ... B
(i1) E X k (constant)

(c) General Marital Fertility Rate »

(ii1) e k (constant)

n x

(d) Age Specific Fertility Rate ) Legitimate births
(iv) Married female population (15-49)

k (constant)

Codes :

(a) (b) (©) (d)
(C) RN ) (i) (i) ()
(2 ) (1) (iv) (i)
(3) (i) (iii) (1) (iv)
@4 Gv) (i) (i) (1)

68. Which among the following is optimum birth weight of child survival in India ?
(1) 2000 gms to 2500 gms (2) 2500 gms to 3000 gms
(3) 1500 gms to 2000 gms (4) 3000 gms to 3500 gms
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66.

67.

68.

AHHT (A) : TTRTERIet S | ST 199% Jam Afeed 18 |IeT Sl 3H & Teet THerl &l Sl
£ 1 (UNFPA, 2013).

A% (R) : J97 AT TR ST, TTHINST 31T, TR, 81910 WX €l e SinTeh STEHTdT &
FHROT @ Jaref § dfad @ Sl & |

G YA

(1) (A)FEI&, (R) Tl & 3T (R), (A) ! Tsh AT & Fehell € |
(2) (A) W E, (R) Wl ¢, & (R), (A) I Tel A& Tel ¢ |
(3) (A)TWEEWR)TATE |

(4) (A) 7T E R (R) T ¥ |

G-I %t Gli-11 ¥ goferd < |
Tt - 1 =t - 11
@) (THE)
B
(a) TR ST 5T O ek ()
(b) W TSI X (i) B . (Fer)
=T AT TSt &3 B
© (iii) 1;‘ x k (fer)
(d) S SERT U 8T _ AY 5
(V) Trateq wieen sFEn (15-49) * k ()
HT:

(a) (b) (© (d)
(O CY (i) (i)  (@v)
2 () (1) (v) (i)
(3 (i) (iii) (1) (iv)
@ Gv) (i) (i) (1)

Tr=foifiad 5 | S 9RA | Siiferd S ol S2aq ST 9 & ?
(1) 2000 I™ | 2500 U % (2) 2500 7 9 3000 UTH qH
(3) 1500 I ¥ 2000 W T (4) 3000 7 9 3500 UTH dH
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69.

70.

71.

72.

In life table, the survival ratio can be obtained by

L

M) Svpen="p @ Stien=T
X X
! L

(3) nsx’x+n =" fn (4) nsx’x+n = - lx+n
n-x X

Which one of the following formula used to calculate adjusted CDR by direct

standardized method. Considering PR as reference population and PS as standard
population ?

anli * nP)SC an)SC * HPE
(D) CDRMlj = P—S 2) CDRMlj :P—S
CDRR x CDRS zm® s« P
3) CDRMlj = PR 4) CDRMlj :P—R

Which of the following disease has been the focus of World Health Day on 7" April
2016 ?

(1) Hypertension (2)  Diabetes
(3) Osteoporosis (4) Malaria

Match List-I (Name of the theories) with List-II (names of the person associated with the
theories) given below.

List -1 List - II
(Theories) (Persons associated with the
Theories)
(a) The theory of change and response. (1) Kingsley Davis
(b)  Social Capillary theory (i)  Arsen Dumont
(c) Optimum Population theory (ii1)) Edwin Connan

(d) The theory of Logistic growth of population (iv) Verhulst and Pearl and Reed
Codes :
(a) (b) (© (d)
(C) RN ) (i) (i) ()
2 () (i) () (1)
(3 @G (@Gv) (1) (i)
@ Gv) (i) (i) (1)
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69. Siia difersht | STfaadr 3¢ 0 ¥ fhad ure st STt €
nlx+n Ile+Il
M oSx =" @) oS0 =L
n'x+n nLn
O Sen=p @ S
70. VIR SIS UG §RT GHEINSTT CDR - & 0T & fefd fe & & A 1 g1 v foham o €,
STeT PR ey G § Ud PS A I § ?
o B s o P
(1) CDRg=——15—— (2) CDRy=—"ps
CDRR x CDRS zm® s« P
(3) CDR,y=—pg (4) CDRy=——2g—
71. Tr=fofea 4 9 forg THR I | 7 30, 2016 & faver @ies fKaq & 7o W & hisd
fopam M & 2
(1) FTERERT (STeafeeh ) (2) AT (SHETE)
(3) AR (SREAARITE) (4) wrEn
72.  TEfeRad gei-1 (FasTat o A1) B geE-11 (37 (st @ Hatad i) & J1g Gafed HisTg
T -1 = - 10
(fagr=) (FagT= & weifura sate)
(a) URecH Te 3EHAT 1 fagT (i) g Sfom
(b) THEISTR Shiverdl i1 fagT (i) T
(c) T=dY SHEET fagr (il) TSl H
(d) STEET H ASRES iy o (GG (iv) TERE T I TS T
£
(a) (b) (c) (d)
CORNCY (ii) (i) (Gv)
(2) Gy G @) @)
(3) @) (v) @) (i)
@ Gv) (i) (i) @)
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73. Which one of the following statements is true for the demographic transition stage-1II ?

(1)
2

3)

“4)

High birth rates, high death rates, and low growth rates.
High birth rates, declining death rates, and rising growth-rates.

Continued decline of death rates, declining birth rates, growth rate decline from high

to lower levels.

Low birth-rates, low death rates, and low growth rates.

74. Assertion (A) : Crude death rate of India and USA cannot be used to compare level of

mortality in two countries.

Reason (R) : Crude death rate in affected by variables extraneous to mortality.

Codes :

(1) (A) is correct, (R) is correct and explains (A) correctly.
(2) (A)is correct, (R) is correct and does not explain (A).
(3) (A) is correct, (R) is incorrect.

(4) (A) is incorrect, (R) is correct.

75. Which one of the following methods is not used for fertility estimation ?

€]
2
3)

4

Paper-I111

Rele’s Method
Own Children Method
National Growth Rate Method

Stable Population Method
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73. TAfAfEd § S | U HU SR ehH0T (ZS19) =ROT-11 % 91 § 98t § 2
(1) 359 X, 399 §g 3L 3 = glg X |

(2) 39 ST I, gl GoF &Y SR gl gy 1L |

(3) TG H AR TR1Ee, gedl 51 &%, 329 | (R WRi & 3R gy T § Ree |

(4) =53 = g X ok e gfg =T |

74, FfHAT (A) : YRA SR TG T WNHT H TN Tog I T STANT &1 <901 b1 G X
TR D! ol A o ol Fel foram ST gk |

aq® (R) : SN 9o % W T S 9 9T oR_1 5T 97 Ugall € |
FE

(1) (A) T E, (R) Tl & 3 (A) F et AT FAE |

(2) (A)TEE, (R) Tl & 31 (A) T AT 78] FATE |

(3) (A)WIE (R)TAE |

4) (AT E, (R) W& |

75. TefaiEd 5§ foReeht, ST 3ol Sl Ggid o ®0 H STINT Tai 1hdl ST € 2
(1) Tt F ugla
(2) @ faogd wgg
(3) T i T

(4) TeR SEE ggid
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